HUHMICASAWUFIH 3ACAT JAPTHIH A3PT3A3X A

BUEWUVIH TAMMP, CITOPTBIH XOPOOHbI ZAPT'bIH
TYITDAAA
: /f?jOHbl 0.3 pyraap Ayraap ,// Yraanbaarap xot

cappin O%ib egep

TaMuenH ABYyn4X Tyxafl,
TYIAAX Hb:

Hor. YnaanGaaTap XOTHH 1999 OHH YYZHH IIAHHH 3anyy9yyIHH
aBapra manrapyynax ToMOasHE#T I999 OHH 3-p CapHH 6+47-HH SAPYYHOX
Xauzmraftraxr ssyyncyrait.

Xo8p. ToMussHu#t Tamupuun,myyruguftd marHann sopuynaH 114000
Terperaiir CTOPTHH apra XxsMkssHUft 3aprraac rapraxHr BE-00
C.Hapanuausr-r 3eBmeepcyrsft,

T'ypaB. ToMmiussHu#t TecBEfir HSTIYPOPP, TOMISSHURD 30XUOH

AByynax myyrumafth OypssudxyyHufT xoEpnyraap xaBcpanraap Tyc TyC
Garancyraf.

JIlepeB, ToMmupsHuRr Y3571 cypran 30xuoH CaltryynapTHH eHmep
XBMED9HI AByynaxur wmyyraulh semnennm maanracyrait.
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gacar 'jgrus I3praEsX
IEQ’Cﬁo XODOOHH ZapPIHH
/4 TOO:I{I‘}HHB%HBH—I g-p XaBCparT.
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Hor. Toummonsuuf reces

I. TaMup9YnuH marHan

I-p I2 x 2000 Ter = 24000 Ter
2-p Gaftp I2 x I500 Ter = IS000 Ter
8-p Gaftp I2 x I000 Ter = I2000 Ter

Eipx = 54000 Ter

2, llyyrapu?y marsan -

I5 x 2 X 2000 Ter-= 60000 Ter

Ha#tr myH = II4000 rer
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b 4. UC Lpids] c'_,ér% TAPTHE MBPIaAaX
6 "Tamn}a GIIOPTHH XODOOHH JIAPTHE
/4 TORE (GG HE | 2-D XaBCpant.
L
Hor. TompoHEfl myyramufin GypsnnsxyyH
’
I. Yarxaa yie  e/m BICYT
- 2. loun yne H/6 BICYT
3. Bonx yue myyre  BICYT
4, T'ypparvaa , yne =" xyn -
5. BonxnGaarap yne - = CBI 1 -
6. OTTOH yue = BT]IIC
7. Owupar yuc et BT
8. Jxarsag ync =" CEI
9. Jlopx - yne -"- " B3I
I0. ToToBnopx yac =" CXn ,
II. Hamarmopx yac SR 4 PR
I2. lomsrMaa yue -"- BTIC ;
I3. JlopxHAM yne M BTIC
I4. MypsB yne = SRR Ly L
BonoBCPYYRCaH — Leeer Keesr C.JQlypssmops
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